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[7206-B]
MATHEMATICS
G|

(Hindi & English Versions)

[Total No. of Questions: 26] [Total No. of Printed Pages. 16]
[Maximum Marks. 100]

[Time: 03 Hours]
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Instructions :-
(1) All questions are compulsory.

(2) Question nos.1to 5 are objective type questions.

(3) Internal options are given in question numbers 6 to 26.

(4) Graph paperis required.
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Choose '
the correct 9Ption and wrige ;, in your answer book-

(1) The valye of 643 is-
(a) § (b) 6
(c) 4 (d) 16
(i) The zero of polynomial P(X)=2x + 5 is-
@ 2 b) =
(c) -z- (d) ‘2
(i) The volume of sphere is-
(a) %nr3 (b) 4nr3
(c) §“r3 (d) 2nr?
(iv) The probability of getting 0 (zero) on throwing of a dice is-
@ 0 (b) 1
o ! @ :

(v) The mean of first five odd natural numbers will be-

(b) 4
(a) 3

d) 5
c) 7
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- e (5)<1:::
AR L T B1 0D
(1) uguz xt.x:+|ﬁ\zmw ................................................. B O16)
i) ﬁ-a 7, -6) 3 B 7 e e gm-” (&6
Oy nfe Ix =24, 7 0 1 IR gar 21 (1/0)
W) Wit 4 BN L (0/ 3abc)
(v) ﬂﬁd+h+t'-{)3 TV a0 4 B O e
Fill in the blanks.- _ LL(H-D
() The coefficient of x? in polynomial = 115 16
(f‘] The ordinate of co-ordinate (7, -6) is.......ccoven R (8/6)
'fl” H3x =24, then the M ORI e (1/0)
(v) The maximum value of Probability iS..........cccemierumraenanerees
(v) Wat+b+c=g then @’ + b2+ cl= i (0/ Sabe)

3 g A 0 / s fofaw —  http://www.mpboardonline.com (5x1=

() V3 v& it sy 2

() X+y=0% s g x=1,y=-12]
(1) x =0, x-3& &1 T 2

(iv) agew A SR AR ST A S w1 A g
(v) Wﬁ?ﬂiﬁaﬁwq?ﬁlﬁmaﬁgﬁm_z%%k
Write true/false in the followings-

(i) V3 is an irrational number.

(ii) Asolutionofx+y=0isx=]andy=_l‘

(iii) x = 0 is an equation of x - axis: o
(iv) A mode is not that value among the ObSel'vatl ons Whlc

h occu'rs most,
(v) The probabllny of getting heﬂﬂ is = on tossmg a Cﬁm B
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i L -
6 L ferRag (5x1=5)
i 7 7 ST Y Br?
T R 75 an s o
(i) T % S Prtwe ey
(v) = N
( Pt Rt @ g o Y ?
v w o o AEd #
. ‘E:‘R‘JQI
Write answers in gpe word/ senten
(i) w ' | -
(ii) Wh-a[ Will be decima) form of fraction 1 9
G w:i :‘; example of degree (wo po]yn:)rnml
€ co-ordinates of orig i
(iv) How o > rgin point
& W any number of lines can pass through two district points?
55 o nte the formylg of volume of cube.
: I S o |
o . (5x1=5)
i - -
(") (-3) x (-4) (a) 0.0
(1) -6+19 (b) 12
sy 1
(111) Tod (c) 0.5
(iv) -x618 (d) 13
Match the column-
‘A, ‘B
i) (-3)x(-4) (a) 0.01
(i) -6+19 (b 12
L. ] ) 05
("I) _{EE (c) ().
_ 13
(iv) -x 618 @
P (e) 103
v) ;%3
- Page 5 of 16 o
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%6 (125): BT W By

N4

Simplify - (125)5 .

#Y4r/OR
é @ W B IEHR Fif |
Rationalise the denominator of % .

mﬁaﬁaﬁ%ﬁﬁﬁgﬁﬁuﬁfﬁaﬁaaﬂ#mmam%@mﬁ

@

%Wmﬁ?ﬁmwﬁgmmmaﬁﬁmmﬁg' @)

What is the name of horizontal and the vertical lines drawn to determine the

position of any point in the Cartesian plane? Write the name of the point
where these two lines intersectl.

441/ OR
aqaE &9 @ea 87
What is a Quadrant?
wF FE & o faenfyar @1 Jagdr (@ H) 3 € - @)
155, 160, 145, 149, 150, 147, 152, 144, 148
& ieel & ArEad I S|
The heights (in cm) of 9 students of a class are as follows-
155, 160, 145, 149, 150, 147, 152, 144, 148
‘Find the median of this data.

arerar/OR

afwe 14, 25, 14, 28, 18, 17, 18, 14, 23, 22, 14, 18 P FEAP A BIT |

Find the mode of 14, 25, 14, 28, 18, 17, 18, 14, 23,22, 14, 18.

Page 6 of 16



¥ WA -

. 7 3
i _——
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Simplify-
73

n L_3
() 10 10

(1)

. 1 3
(i1) §+ P

(i) §+§
AYq1/ OR
RrEt § <ol 1 erifea 9 o A= vy ¥ fifag |

Write the fraction forms of shaded portions shown in the given figures.

m

(i1)

510 WAHIR A B R ARAQ| Ton g0 S B T B BT GH

i ferRay |

Write the definition of parallelogram. And write the formula of area of
parallelogram also. http://www.mpboardonline.com

3g4ar / OR
MHia H, ABCD Ud WHIR ugqyw § iR EFCD U& ama 2| w1 &
AL L DC&| fog #iforg f5 —

ar (ABCD) = ar (EFCD)
In fig. ABCD is a parallelogram and EFCD is a rectangle. Also, AL 1 DC,

Prove that -

ar (ABCD) = ar (EFCD)

A

L

@
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W1 0,67 2w 4 o BR ®)
Express 0.6 in lhefonnofqg.
Far/OR
(V5 +v2)" @ & @)
Solve- (V5 + \/2‘)2.

912 kP A T B, FafE x = 2,y = | FHBROT 2043y = k FT 0F & & | (3)

Find the value of k. if x = 2, y = 1 is a solution of the equation 2x + 3y = k.

3qi /OR
RS TG x = dy & B A9 7 RiRaT |
Write the three solutions of linear equation x = dy.
913 P @ PQ MR RS WeR fig O W whwe awdl # af
ZPOR: ZROQ=5:7 &, @l ¥ ®or sa &y | 0

In fig, lines PQ and RS intersect each other at point O. If ZPOR : £ROQ =

5 : 7, then find all the angles.

gyar/OR
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arpfa ¥, x 3R y @ A T/ DR iR faw 2aize 5 ABIICD 2

In given figure, find the values of x and y and then show that AB 11 CD.

D\

A X

<

T

y
< >
¢ 130y D
.14 Wﬂgﬁaa%ms:s:gzl3$a§qmﬁ%13ﬂﬂq§a$ma‘mw

B |

The angles of quadrilateral are in the ratio 3:5:9:13. Find all the angles of the

@)

quadrilateral.

324/ OR
IFd B B A qore fafan |

Write three properties of a rectangle.

Locate the points (5, 0), (0, 5), (-3, 5) and (-3,-5) in the Cartesian plane.

94/ OR
Ity 4 <@ax frefaRaa & fafag -
(i) B fAdu® (i) C& frdeim
(iii) D &1 4 (iv) &g He s
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(i) The Coordinates of C
(iv) The Ordinate of H

The C‘mxrdinates. of B

(1)

-

The Abscissa of point D
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M ungje bisector of that angle.

ey
o NG By o YA oo

( QﬂﬁHQ|
v & halswnmun hits 4 b

: Ounda imes
Plays. Find the probgb; 'Y 6 times out of 30 balls she

lity that she g5
Y that she gig not hit a boundary,

Uh forg ;275 g
Bg A fora d ;120 an
4 A g@F ged & ged 3 wifiwa s g

Two coins are tossed simultancously 500 times, and we get-

Two Heads - [{)5 times
One Head 275 times
No Head « 120 times

of occurrence of each of these events,

Find the probability
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518 IR @ ¥ frRaw —
(1) 45,54,5.1.19
(i) -9,-7,6,-3

Write in increasing order-

(1) 45,54,5.1,19

(iiy -9,-7,6,-3

e/ OR
eIAdq ¥ fored -
(i) 340%R - fpeiiier
(i) 4659M - oo
Write in Decimals-
(i) 340 meter - [ kilometer
(i) 465gm - : kilogram

g19 WA Y@ R 3 AT -

QM = i) 2
1) p (ii) 3
Represent on the number line-
) 2 iy
M 3 i) 3

grar/ OR

| Wﬁﬂmaﬁmsﬁwmﬁmﬂ?iﬁﬁmﬁwswgmﬁﬁ

iter T g, A s ot ¥ fra femedi €2
Ina schoul class 5 has total students 240. In school, class 5 has been divided

into 4 sections, then find how many students are there in each section?

@)
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120 ABC t& waw Popdl B Rmdl ZA = 900 sy AR = AC #1 2B w1 £C
W HE B AR
ABC is u right triangle in which ZA = 90° 4nd AB = AC, then find the value
of £B and £C.

)

Jua/ OR
2T 5 R g ot a1 v a0 e 8
Show that the angles of an equilateral triangle are 60° each.
B2 mpRY W, ZABC = 69° and ZACB = 31°#1 et 2BDC st #F “
In figure, ZABC = 69° and ZACB = 31°, then find ZBDC.

et/ OR
frg PR M5 ga & qaw A e | W B safla sl 2

Prove that equal chords of a circle subtend equal angles at the centre.

922 TUMAEUS WA AT - )
y'-Sy+6

Factorise-
y’-5y+6
Sy / OR
@1 HATT BB (x + 2y + 42) 1 wHR Hifty |
quygee adafis

Expand (x +2y + 4z)° using suitable identity.
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g.23 Qﬁiﬁﬁ m]ibi'll] X —

U.24

9.25

y =2 @ Jreig HWifaw |
Draw the graph of lincar equation x - y=2.

g4 / OR A
TP TR 3§ 2Rh B faRen Rifef € ; vea Reeindies @1 for %%
IR IUD e B0 D fay ufy fareintier a1 Amrn 52 81 AR T B
g g x fheimfier & air ool e y 281, @ gaw! 0@ A e
fIRay sk swrat argeq iferg |
The taxi fare in 4 city is as follows for the first kilometre, the fare is T8 and
for the subsequent distance jy 825 per km. Taking the distance covered as X

km and total fare a4 7 Y. write a lincar equation for this information and draw
its graph.,

TP PEIiaR s o) YOS B S 357 # oY et GRETT 300 W
€1 39 @S @1 dgwa BIGEES

The sides of a triangular plot are in the ratjo of 3:5:7 and its perimeter is
300 m. Find the area of this plot.

791/ OR
U Pt BT &b S BT, R <) o 8 9 sl ¥ ¢k
Rt aRmmg 32 3, 2
Find the area of triangle, two sides of which are 8 cm and 11 ¢m and the
perimeter is 32 ¢cm.
U% &R B aHr, DS AR Sur wwwr SN, 48 ao 39 %) 750%
uﬁtﬁ.faﬂﬁﬁwmaﬁﬁaﬁmwawmmmmm
g |

The length, breadth and hei ghtofaroomare Sm.4m. and 3 m respectively.

Find the cost of white washing the walls of the room and ceiling at the rate
of ¥7.50 per m?,

(5)

(5)

'ﬁ,lyzoe-sl
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R e s R

3000 16
4000 12
5000
6000 X
7000 i 6
8000 4
9000 | 2

10000 1

el AN 60

Find the mean salary of 60 workers of a factory from the following table -
Salary (in¥) Numbers of workers

3000 16
4000 12
5000 10
6000 8
7000 6

8000 4

8000 | 3

10000 | 1

Total i 60 —

55 PagetSofts
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Wt‘i‘q#qga”raa%mﬁa‘fﬁﬁﬂﬁﬁﬁﬂﬂm”
2.3 45013343

&= Tiei @ wRa, G AR aged F Do |

red by a team 10 10 footbal

The following number of goals were SCO
matches-
2,3.4.5.0.1,3.3.4.3

Find the mean. median and mode of these scores.
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